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PART A
GENERAL INTELLIGENCE & REASONING .
Architect : Building : : Sculptor : 7

Directions : In questions no. I o 9, select the (8.
related  lettersword inumber from”  the given L o
alternatives. (A) Muscum (B) Stone-
1. CFIL: ORUX : : DGJM : ? () Chisel AT Statue
(&) HJLN (B) NQST 9.  MKQO : LNPR::? : XVT%
0y L (A} YSUW (B) JSVWY
2.  BEHK : YVSP ::DGJM :? ©) VIWY by
(4) JGDA (BF ROLI Ve . $ san
G- W w0} EWDR ﬁu;;?;.ms_a‘ in quest 710:¢o I&, fﬁémﬂd
3. 24°80..120:7 : nanberlctlers fword fron the given alterugtivts.
(A) 160 {B) 220 Q{10 WAy PQ . m H{Z@W"
\ €300 - D108 LA (D) MNPR
332 r 23 . :_.3:%?._,: ? B - IIL [ (B) {:Dwx
t w 1 1Y (B) 28 @, EFUV _w GHTV
) 38 () 48
‘ @(;3 626 (R) 841
123 : 36 : : 221336 © 962 —_—
(A) B2 B 6 b
€ 72 ™), 25 0 Cfaf) (A1 5720 B) 6710
i Timid : Asa: Cunoings ¢ % {C) 26sl; ~D) 4210
(R} Ant (B) T KQ 14. (A} Swimming (B) Sailing
Ny D) goye (C) “Diving (- Driving.
7.  EBcstasy : Gloom :: ? o
. = 3 15. AT Perception
AX)  Congratalatio sion : » _
(B) Diligent : ::-.;,.--,“ ".'?) Dlsocrnn:acnt
(C) Measuré “Seal (© ;mecuatf“"
(5] Hul& : Exaltation ®) rfsmfmu_on
SPACE FOR ROUGH WORK 6
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Directions : In question no. 16, from among the
given alternatives-select the one in which the set of
numbers. i§ most like the sel r.:f numbers given in the

quﬁm& ) tql i %
Given Set : (4, 25, 81) T4
16. (A} (4, 36, 79) (B) (9, 18, 81}

;/1/ a1, 64, 100 (D) (9, 49, 13)

In the, _' '__ng question, uumber of letters
are skipped in between by, @ particular rule.
Which of the following series observes the
rale ?

(A) BAFHTU (B) ACEGJL

ACFJOU (D) ADFHIL

#2134 :
Directions : In question no. 18, which m‘f‘m
given responses would be ¢ meaningful ovder of rhe |
following ?

17.

18. 1.  Ocean 2. Riyulet |
. River
(A) 52,3 L4 (B &55 1
{C) 5,2,3. 4,1 (D 91,850
Directions : Arrange ( wing: words as per

order in the tictionary.

19. 1. Preposition 2.  Preparatively
4. Preposterous 4.  Preponderate
5. Prepossess
SBY 2,4,1.5,3 (B) 1,5,2, 43

(Cy 54,231 (O 14,2513

21

Direclions : E. questians no. 21
given, with oneliwo. Imh-"s} @

correct cilernative from : ones that will
:nm-pith: (he series.
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Which one sct of letters when sequentially
;ilnmd at the gaps in the given lctler series
shall complete it ?

aCedbobaca:abaraca
\ 11, L ¢ h
(13)

(A) acbhce aache

(C) babbh (I hcbba

\ @ series s
seng. Choose the

42 wnrr JXKW

- (B TGSKF

Q,WNI _y AOBN

el S 1
'}ﬁ 90 132, 183. 298, %
(A) 368 (31 316
©) 362 D) 326
2@ e I
0, 4, 8,24, 64,176, _?
(A) IEIJI- —TB! ﬁlﬁ_l‘.}_
(280 (D) 300
R 5y Fa
(A) ZV B XU
,s_m/ YU (D YV

SPACE FOR ROUGH WORK
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25. Mrs. Susheela celebrated her wedding |29. Find the wrong number in the series.
anniversary on Tuesday, 30" September 1997. 6, 12,'21' 32, 45. 60
When will she celebrate her next weddi .
txn will she celebra 7 next wedding /‘iﬁ'}lﬁ @ 12
anniversary on the same day 7
: - C) 21 (D) 32
- ()30 September 2003
(B) 30 September 2004 30. Ramesh ranks 13'* in a class,of 33 students
There are § students bclm@sh rankwise
(C) 30 September 2002 How many studen wre  betweer
Ramesh and_Suresh ?
(I)) 30 October 2003 - WY
| ; @) 212 14
26. A clock gains five minutes every hour. What I[ﬂl’, 15 \/ Yy 18
will be the angle traversed by the second hand | ?
in one minute ? 31. Hﬁ'?cs?%;, is 4 years less than twiced the
" ) 2 ag his brother, Which of the following
(A} 360 (B} 360-5 gﬁu the equation to find his age 7
- (D) 380° :
€) 39 Q 2x + 4 B) 4x +2
27. B is twice as old as A bl Lwice }wng& t.hm{) C) x-4 ()-2x - 4
F. Cis bal{ the age of A b is twice tﬂder
). Who is the second oldest ? 32. Suresh's sisler is the wife of Ram., Ram is
Q Ranit’s brother Ram's father iz Madhur
JM] B 0 Sheetal is Ram's prandmother. Rema is
) D Sheetal's daughter-indaw. Rohit is Rani's
§ brother's son. Who is Rohil to Suresh ?
28. A lwo member commilied comprising of one (A) Brothersindaw ‘B Soe
male and one fe mber s o be .
constituted out ve males and three () (Erotiey :‘Q‘/ Nepbew:,
females. Amongst females, Ms. A refuses . -
to be” a member of the committee in which [35- 172 sx;r;;}"x,: Tg‘fhof those 5u;'d'-‘ey ed ;w“ﬂ;ba
" RS car an of those surveyed owned a TV,
Mr. B bakon a5 o menker. Inhowmate . jroce cunod both a canand s TV.-what
different- ways can the committee be " percenl of those surveyed did not own cither
constituted ? acarora TV ?
n 1 (B) 12 (A) 25% - B) 20%
(© 13 B 14 | —eriow D 5%
SPACE FOR ROUGH WORK }
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A
24, W DANCE is coded fz GXQZH, then how will
'RIE;HT e eoded ?
(A} UFJEW (B)__SGRFY
O URIWE .;"" (D} U

35. If LOSE iz coded as 1357 and GAIN is coded
a: 2468, what do the Ggures 84615 stand

fior 7

_,,hﬁ NAILS

((:) LANES

iB) SNAIL
(D) SLAIN

=
36. A statement 1 given fallaswed by fuue
allemative EI.[';.{LII'I'JE'EIC'.'-?-. Mﬂmﬂh‘ﬂmliﬂ
which is most appropriale.

Statemend .

Iz iL necessary Lhat n'ciuﬂhi.i.l'm‘--ﬂ.'mu]

nrinn'[..eﬁl? .

Argumients . Q

[ Yes, thteum of cdgcition 1510 prepare
pnmur&iﬁ;"gﬁrni g ¢

W Yes, educatedppgrson should stand an

“fier  completion  af

hi=s own
I:dm:m@
Mo, edueation should be for sake of

knowledpe only.

I11,

V. No, ane wray take up agricultizre where
education is nol necessary.

(A) Only 1 and TI arguments are strong
(B1-=Only 111 and TV arguments are strong

C1 Only I argument is strong

o
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37. A man started walking West, e tur
ripght, then right agein and finally turr
left. Towards which direction was be walk)

now T
.A‘Kf Norlh i3} South
(C) West (D) East @

38 Stdii trovels S km tofhe Sodth Then s
trns tg dhe nght an § 4 k. The

© ugaiy &b Wworns (@gheg 7ight and moves 8 k
Ih!w,?id How away is she-from (]
slarting ﬁ :

) Qn

Vegm Lhe oiven altemative waordz, selecl tF
warn which eonaof be formed oasmy h
letters of the given word :

&
B

{H)
i

OMPREHTENSION

Ay POMPRISE (Bi PENSION
G ONION iN. PEXACH
s

40, TFrone the given alternative words, select th

word which can b formed using he felier
af the miven word

MULTIPLICATION
(A} MUTUAL
- By LIMITATION
() APPLICATION

(D) Only I and 111 arguments are strong

(D} NOTION

SPACE FOR ROUGH WORK
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Directions : In questions no. 41 and 42, =elect the
missing number from the given responses.

A1,
(A) 127 (B) 31
_AO a7 M 328
49, E 7
g | e |
1 2 5
a0 | 23 | 43
AT 40 (B) 48
ST 50 (D} 36
43: Il 2 stands for diﬂ:iﬂiﬂﬂ, %+ ‘Blnuds. lﬂT

subtraction, '+ stands far mnltplication, 5
stands for addition, thes whigh ene of th
follewing equations 1o gurrest ¥ Q

{A) 70 - o 5.:*-5 =44 %—1

_ABT 702 2 16 = 21

ah.

4%,
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represents  the
poets  and

Which disgram  correctly
relationship hetween politicians,

r@ oooa @ ! '@\é

¢ ' (B}

How many triangles are there in

fellowing figure 7

2y 30

11.:35:!1.113&. are solved on the basis of & !
i gvelem, Find the correct answer for :
1

rnsclved oquation on Chet l:l-.!HL'.:
F 321 x BRG—= 35, 441 = 484 =
B25 < 400 = 45, [ind the valie u! EEE b giri Lt

iay B3 & {B) 33

G 43 )

Bl Dircotions : From the given ERSWEL
(G W=2+4-5%6 =% the  one  in wf’;mﬁ Ha.g g}.fgg';r
(DY TS Tl g = hidden, fembeddﬂd.f o
44, The school resulte casing year after |48 @”ﬁf@f_@i’ﬁ
year, Foreeastghs 1t af 2{3}2 from the g Jh
following i E
[ver: | 2008 o009 | 2010 | 2011 |2012
= Answer EH”M s
Resull [34-259-36- 75530 TERME-25F(4T-250-51. T5% 7
i 1] S
(&) SL-75% (B¥56.75% i
C) 4800% (M} &57-25% ) (A} (B) ) Y

SEACE KR ROUGH WORK

Downloaded From: http://www.sscportal.in



Direetions = If ¢ mirror is placed on the line MN,
then which of the answer (igures is the correct image
of the given qucsfmn figure ¥

Lo  Qbestion figuire :

f“gg» |

Answer figures :

N ﬁf

Directions : A piece of M* s foldd l Wmt a
shown below in the quﬂrmu ﬁﬂ‘uh"im the

answer figures, m:ﬂi‘!m ﬁruw ic il upr%

apened.

50. Question M: .

Ansiver figures ;

&8

Downloaded From: http://www.sscportal.in

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

I have a few fruits o be distributed. I‘f.:I
keep 6 in each pack, T am left with five
fruits. If I keep three :neachpmklam left.
with two, If I keep 5 in cack 1 am foft with
none. What is the minimun numbefigf fruits
I have, w@anﬁt nné?ﬁih:hutﬂ ?
(N W X ":_.-’ (B
AN fe
dﬂ. ﬁﬂu{ ﬂlb ,Wrs tha plelc the first

¢ wmﬂg,nd n‘l‘lﬁgm V&and from the given
(B} SH

D) IN

are 50 children in a class. 4% of them
thvc no uniform. In the remaining 96%,
13" children are wearing only one part of

the uniform. Remaining children have full

46.

uniform.  low many are wearing full
unifﬁrn: ?

(A} 26 (B) 32

(C: 34 ) 30

49. Five poles are standing in a row. M is on the
feft of X, O is on the right of P which is on
the right of N. If' L. i5 on the loft of M, which
poie.ig in the centye ?

(A L (B) M,

(Cy N (n 0

50. Five books arc lving in a pile. E is lying on

A and C is lying under B A is lying above B
and D i lying under C. Which book is lying

al I‘.hu-lbnl.!nm ?
A A (B) B
(A) ®  © © c (D) D
SPACE FOR ROUGH WORK
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PART B

GENERAL AWARENESS

l——

51. In the budget for 2011 - 12, the fiseal dcﬁt 56.  Disinvestment in Public Seetor is ealled
(% of GIIP) for 2011 = 12 has been projmted at

=

fA) Liberalisation

(K) 51 (B) 50
(13} Glohalisation
c) 46 D)y 34 .
_ (C) Industnalisation
52. Which was deseribed by Dr./B.R. Ambedkar as 5]35" TPrivatisation
the ‘beart and sotl’ of the Constitulion ? :
(A) Right to E‘T‘iﬂit)" ﬂm win finthes" Q groun of
(BJ Right- :lga;ﬂst E::plmmt.wn . . [-"} mﬂ Lizards
(€©) Right to Constitutivnal Remedies F “l’ﬁf B"‘dﬂv ) Amphibians

(DY Right to Freedom of Religion f \ ?
58. Ar &\r wals actual slandard of living can

, A
53. Which is not the concern ttl" ﬂw Iu::.,:l' l@”r-‘wrd {y

government ? g
{A) Public Health . 0“ CEoRs el S '

(R} Net National Income

(B) Sanitation
(Ci Per Capita Income

(C) Law and Onder
) Public ms i :' % T Dhapesable Porsonal Ineome
54. In India, the mnmpl—df sIn zenship is [59.  As announced by the Finance Minister in his
_adopted from . Budiret speech on ggth February 2011, with a
(4) England ISA, view 10 assist Stales in modernising their

stamp and registration  adininistration,

(C) Canada France
o8 - E-stamping is expected to be rolled out in al)
55 Who had | poityless democracy in the districts of different States in 2 period of
India ? '

(Al one vear

(A) Jaya Prakash Narayan M) tweo years
i %y {G‘} Vlﬂﬂb&ﬂhﬂ'ﬁ : : = »

iy S Bangs

three years

(D) five ycars 2

BE201 V/Page 14
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TG “Whidh $ikh Gars called himeelf the ‘Sachcha

61

63.

. Company i
~ a factory

Downloaded From: http://www.sscportal.in

Badshah' 7

(A) ‘Guru Gobind Singh
(B)
©)

()

Guru Hargovind
Guru Tegh Bahadur

Guru Arjan Dev

The Civil Disobedience Movement was

launched by Mhhaﬁnu,('}andhi n
(B) 1830

D

(A} 1928

() 1922

1931

l

What is the maximum strength prescribed for |

State Legislative Assemblies ?
600
-f-m: .I

(B)
(D)

{4) 350
) 500

65.

G7.

Pa-bien visited India durving lh;aﬂ!igtl ﬁif

(A) Chandragupt: 11 . o
(B) Samudrogupta %
(C) Ramagupta Q
(D) 0
o

Mughals in 1651 ?

(A) Calcutta:
(B) Cassim Bazar
(C) Singur

(D) Burdﬁ'an

Kamerazupta
At Which place i @was the Bast India|

ission to trade and build |

()
7.5

Diw 2 av island off
iAd

(13}

Dasnan
Goa
Gujarat

(D) Maharashira

Which from the fllowing is a 'and-loc

sca ?
{A): Red Sea (B)  Timor Jea
(C) North Sea (D) AvghSea

Shivasrmudram Falls i@d in the cours

fiver < : ’

(h: E!J{__ﬁs'*th e (B
©) :{?‘ (M

ave the slogan “Inquilab Zindabad™ °

Godavan —

Mahanadi

i Chandreashekhar Azad
(%Y  Subhash Chandra Bose
(C1 Bhagat Singh

(1 lobal

69. The position of Indian Ratlways network

70.

BE 2011/Page 16

the world is

(B) third
(D) GAh

(A) second

{C) fourth

The oldest international airline is

Duteh KLM
Air Canada

(A)
()
©
(D)

Qantas Airways
Air Sahara

Downloaded From: http://www.sscportal.in
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Sl oal B olealiehen, b
f% T arida Sower WS wee vsdd o5 8 v
Doy o venlrel the chain reacting during j
L Ak (A} Cardamom ‘B, Cinnamon
nuclear fission ?
, (C) Cloves - {)3;  Saffron
(A) Boron (B} Heavy waler
() Mrnigm @) Platoniam i
3 ) 77. The tissve in man where no cell div;

peears after birth s

72.  llydrogen bomb is bascd on the principle of

(A} skeletal (B) nerves
(A} controlled fission reaction : ¢
: {Cj conacetive (D) gﬂ@‘;
{13) uncontrolled fission reaction . j-.-{‘*t?’-':. c
i\ |

e :'p'

() cm!;ﬁilnd-fﬁaibn reaction i i i o
: 78. LNA finporprinting is tased to identify the

tA) Pmnlﬁ \'b#(ﬂ] Rapist

1} 'IWS - (D) All the above
'\\f_‘-—'ﬁ

atmosphere because 9%
T, w:wrm-ﬂ cholesterol level in human b

(D) uncontrolled fusion reaction

73. ‘Troposphere is the hoilest part “of ‘the

(A} it is clusest to the Sun

1 ‘Cf' is
(B there arc charged paviiclos it 4’ .
oy SR i
(1) it is heated L¥'the Bayihs surl: "!.-:‘2"]}. : 80~ 120 mghe
I ':%B - iR 120— 4
ﬂ}}} hca[ ig gmumm{-] IH. 11 ':;:\\\hu % ) 20 1"10’ m*_’%
% _:; (C) 140- 180 mg%

(D) 180 - 200 me%

'[ Y
74.  The outenmost layer o{ﬁg@m is called |

TA) (.,hmnnsph%%lt {fﬁ TPhutosphere

\ 80. Which of the foliowin 27 -b)
(3) Corona Q\q b (0 Lithoaphisre g are warm-bloo

animals ?

(A) Whales {B)  Whale sharke
75.  Where was India’s first compater installed ?

(C) Alytes (I} TDiraco

(A)  Indian Institute of Technology, Delhi ;

(B) Indian Institute of Science, Bangalore
o 81.  Syrinx is the voice hox .in
(C)  Indian fron & Steel Co. Ltd., Burnpur
\ : {(A) Amphibians  (13) Reptiles
(D) Indiin Statistical nstitte, Caloutta 4 PR

(€) Birds - _* (D) Mammals
BS. 7 } amroals

-BE 2011/Pagc.18
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82, ‘The largest ecosystem of the Barth iz [88. What is the commenly weed i o
' ’ ‘ measuring the speed of data tramsmission ?
(A} DBiome !

i Al Mega Hertz

(3) iydresphere i (A ga

1 [ithaenhore (B3 Characters per sceond,

9355 Who invented penicillin ¥ 97. As » part of Human Resource Developme
. I Ministry's rain gain’ policy to attract glob.
(A) Alexander Fleming _ P e E

i ralent, 14 world class universities to atira
(B)  Louis Pastowr . global talents are proposed to be set up i

varivus states, Name the siate from th

{C) Dweser . o .
following where ne university of the aforesai

(D) Edward Jenner " Lype is proposed 1o be located. !
(A) Punjab () HBihae

94. 2018 FIFA World Cup would be held in (C) Rajasthan (D) &%nchai

() Russia ) Qatar l" l‘ h)

(C} France (D) Netherlands 95, Who discovered S&th;l’nle

(&) ﬁ.l)lf)flt eam (8] Awmundsen -
" |? ) :‘:'

95. Who of Lthe following was nof the vecipient of 1C) M ’1t\i‘ Cabot M Tasman

Nobel Prize in Keonomics 2010 7 f ‘j_ .

\"
(A} Peter A. Diamond pr 9. Which of the  following folk dances is
_— " associated witls Rajasthan ?
(BY Chrstopher Piasarides :'-' 'a ¥
- .t
o Y (A) Rauf (B)  Jhora
(C) Lui Xiadbo -] ;
I":-I "'El T .
a X (C3 Veedhi - (D) Suisim
(M) Dale Mortensen -
- J
&\ o

96.  Which troubled rqt%?"&tsumﬂwi recently by {100- Which of the following books is authored by

the Indian a@%m giant Maruti Suzuki for, V.8. Naipaul 7

replace Epﬁﬁu!ty fuel pump pasket ?

. N oy (A) The Radiscovery of India
{A) Marﬂ% 800

EH) A House for Mr. Biswos

ABY Marali A-Star
(G Witness the Night

o) Wagon R ;
g L ' {0 Tender Hooks

M Beleno

8 e Downloaded From: http://www.sscportal.in
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102.
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PART C ‘
NUMERICAL APTITUDE
Ifﬁe 124, %‘ﬂ:l[p2 +'3p.+-3]+1 =7 108. The valueof 1 +— 11 s
w5 ®) 7 el
¢ 1
{0 1 9 195 | s
; 3 ; .
If JI - -l%a = g then x equals | A\ Q ,_l
(AY 2 By 4 A iu 0 =
(C) 16 Y (1368 5
i ) .
T ultiplied -a natural number by I8 and 5 1

103.

104.

106.

107.

©2

'Whan 938 is divided by 5 the remainder is

another by 2! and added the producis,
Which one of the following cotrld e ﬁles
sum ?

(«ﬂﬁ'mn?

[Bi m

(@ Eﬂﬂﬁ

The - pmduct of Lwo rumbers ‘iuiﬁ‘ and
difference is 4. The sum ol igmre'»
two numhqr!_is_

(A) 185 m 2-1&Q
©) 8 10
Ttlafqu_@n 14 + 645 is
&) 24 B30
(©) 6+ 43 D) 3433

i 3

(-4

Q ; The value of

o 1

1{& T«xs digit in the produet :122)'™

ADYE

2048 2-48 et
9-.13 348 \’% 1

A6 ¢ 3 By 4. 43
105 P 03 m 2.3

M T a®n=2a 33 - ab, 1hen the valoe of

(5 £5 4588 32
fa: i {B) &
G4 m 2

112, Simpiify :
00347 0-0347 x 0.0347 +0-9852)"
(0-0347)% — (0-347) (0-09653) + (0-9633)°

“r“"/ 0-9306 (B} 10009

(C) 10050 m 1

SPACE FOR ROLGH WORK
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113.

114.

L1,

116.

L1

s ¢
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mixtures of wmcar “and milk in the ratio of
J:4andh:3 u:c;sgzectivnly. If the mixtures
are poured info a third vessel, the ratio of
water and milk in the third vessel will be

(M) 15:12 ) 53189
(C) 20:9 (D) :591;'5'@1_

A copper wire is bent in the form of
an . equilateral triangle and hus area
1213 em®. If the same wire is bent into
‘the form of a circle, the area (in cro?)
enclosed by the wire is ['ﬂakc-m = %—)
- 5
(A) 3645 (BY 6935 115;
(C) 5485 {(in 6395
A child reshapes a cone made up of lay of
height 24 cm and radius 6 cm into 2 sphexc,
The radius {in cm) of the sphere is
a6 B) 12
(Cy 24 Dy 48
: . : . y - : 13!}.
Water flows into a taok which is 200 m long
and 150 m wide, through a pipe of
cross-section 03 m % 02 m at 20 ku/hotr.
Then the time (in hoora) for the water level | o
in the tank to reach 8 mis Y
~1%
(A) 50 {0y 120 L)
(C) 150 1) 200 -
121.
The product of wo numbers is ﬂ@}’.ﬂ and
their H.C.E. is 13, T'he number, uﬁ;uﬂ; pairs
is
(A 1 (B, @w
© 3 o
Two  equal w-%ﬁ,‘ Q'Jw- filled with the {192

118, [ am three times as old as my son. 15 yes

henee, I will be twice as old s my son. T
sum of our ages is

(A) d8-years
(C) 64 ycars

60 yesrs
(D) 7 years

Three bells ring simu]tﬂ:;éﬁgslyl at 11 ar
They ring at mgular j s of 20 minute
30 minutes; 40 mﬂm respectively, ‘T

time when al thp t‘l\ree ring together next

Y@ T

) 130 pm.

(4) 2 pro.
(&) Hiiglp lﬁmrl

_:-.

A an@fﬁ hgothr ean do a work in 12 day:
B @dt together do it in 15 days. If A
f%l&ncy is twice Lhai-of C, then the day

.;f_&qud for 13 alene to finish the work 1s

(A) 60
€ 20

{B) 301
D) 15

A and B ean do 2 wark in 12 days, I3 anc
 can do the same work in 15 days, G and #
can o the same work in 20 days. The Lime

taken by A, B and C {o do the same work it

t/(B} 10 days

(D) 20 days

iA) 5 days

{Cy 15 days
A is 50% as efficient as B. C docs half of the
work done by A and B together. If C alone

does the work in 20 days, then A, B and C
together can do the work in

(&) 5% days (B} G—i— days

(DY 7 days

e

(C) 6 days
: \

| sé.q;t':é FOR ROUGH WORK
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i\-‘;.x

S “'% {‘ff"l'}iﬂ Mmﬁ*ﬁﬁ 5 ,&P}&T E*é'i'im cigmeler of o wae, 15 GR e,
i m’!& k4] 2@!}#@ ﬁ'fﬂ M!J}I’L I Ti}e; ‘l %)-_g,‘.cu ol ro -.zoi.ztwnq in which 1L wiif ®
Qumb.i}' “f mﬂr {m o) I;!JF 5“0'!": e Lo eovEr a J]?mn‘:(_ of 1540 = i3

“sdded to-the mixbure so that the sew rate of £ 28 -

thé' volurmes of water and shyeerine becomos Lel
2:3is . (G) 700 (D 800
x' i . o
f:g: g;ﬁ vz); T ::: - 129. lu an equilateral triangle ARC of side 10
e sadde BC i Lns%ﬁ’&,\ 1. Then
A24. At present, the ratio of the ages of Maya and lengeh (in em} of ﬁ% 3
Chaya is 6 : 5 and fificen years from now, ), BT
the ratio will get chapged to 9 ; 8 Mayu's ey
present age is *' o3 3."’_‘:1 1‘“ i E*‘l_“.
(A} 21 years (B) 24 yoars Y Oy 0 3
3 (=9 ‘P\“"'
\_,H’} 3'31_-;&31"5 (D) 40 years 130. The ...:cﬁ;ﬁpncv of an article is T 800. Al

125. The ratioof the income Lo the mpem!mwr: of ‘lliﬁww‘! discount of 20%, « gain of mh
'{*cf' made. Ther the marked price of -

a family is 10 ;7. If the family's expenses %‘t

-are T 10,500, then savings of the family is icte is 3

W T 4500 (B1 ¢ 10,000 JHJ 21000 B) %1100

{C) < 4,000 Dy T 5,000 ,,;-‘.:..'Jé‘ v ¥ 3200 My %1300
26 L' g\-\.mm
126. The average mathematics marks ﬂs!""m? I3 A man bought an anicle listed al &5

Sections A : A apd I3 ﬂl"t’."}aa IX i J.laﬁh rlm! with & diseount of 209 sffered on the |
examinalion i 4. The averygeymarks of price, What additiona) discount must

Section A is 775 and that of %’3’;& Bis ‘rQI viferzd to the man Lo bring Lbe net price
The rativ of the numbm tudents al 7 1.104 2

Sections A and B is '{{kﬁﬂ

@ s N it f
(C} 8:7 n,""-“:?'-,}.ﬁ! BD w2y i 156
Y "
Cipth
. The average %%t}'iﬁt of a group of 20 boys 139, Jf . - 3, then
wis. calculated to be 89-4 kg and it was lator b d ,T; -
F discovered. that one weight was misread as .&n " dr o dis?
78 kg mstead of 87 kg The correel. averapge R
‘. . 2b% 4 3d% 5 417
AL L is
ag 8895 kg (Bl 8925 kg Ay 2 B 3
(C) 8955 kg ) 8985 kg i) 4 g

L P oo
= o oy

SFM_:II- FOR ROUGH WORK
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133.

134.

135.

Y

136.

137.
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The floor of 3 room (s of size 4 m x 3 m and
its height 15 3 m. The walls and ceiling of
the room requive painting. The area to be

- painted is
1A) 66 w? @ 54 m
(C} 43 m> (Y 23 m?

When the price of an article was reduced by
20% its sale in¢reased. by 80%. What was the
net effect on the sale 7

/[7&] 44% increase  (B) 44% decrease
(C) 66% increase (D) 75% increase

The price of sugar goes up by 20%. If 2
housewife wanis the expenses on sugar Lo
remain the same, she should reduce the
consumption by

‘& e LB 1625
H 3
C) 20% ) 25% -

{

In a factory 60% of the workess are? %ﬂ

30 years and of these 754 are mal e
rest are femaics. 16 there are male
workers abeve 30 years, the ﬁ'ﬂhﬂr of

warkers i the factory is “_).5
g 3000 (B, 000
e 1800 ﬁﬁa L 1500

.'*‘

Walking al j rﬂ"'*bj% stad speed, 4 man is

-I; héurs lale *'ﬁ?s usual time to cover the

same dislance, ﬁ’immﬁ is

@) 4= B} 1
2
) a-;— .l_le' 5

'
%

J_Q;\ 20

142.

. A ysetangular

138. ‘The selling price of 10 oranges is the
price of 13 oranges. Then the p:

. percentage is

r//ﬁ.-'k} 30% B 16%
i) 19% (D) 3%

139. The marked price of a h T 480,
shonkeeper allows a méant of 10%
gains §%. If no &iscoz{pl,ﬁ allowed, his ¢
percent would be r u )

{(A) 18% - fB 18:5%
© 2055 "i-'jh_:’ (D) 20%
{140, ﬁ. iy, sold 20 apples for ¢ 100

d 20%. How many apples did he buy

:%”fﬁﬂ""

22
25

(R

{Cr 24 6B H
sheet of mewal s A0 em
15 ¢m. Equal sguares of side 4 em are cut
al the carners and the remainder is fold
up to form an open rectangular box. T

volume of the box is
(Bi 986 cm”
(0} 916 em?

(&) 846 cm®
(C: 600 em®

1{ 78 is divided into three perts which are

the ratio 1 : =

, the middle pari is

1
(A} 9- ¥
) 3 (B} 13
1 i
G 17 D 18-
3 el A 3

SPACE FOR RCUGH WORK
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143. The simple intercst on a swa of money 1§ |145. Shei X goes Lo his office by scooter at a spotd
of 30 ka/h ‘and reaches 6, minutes earlier. I

1 g 3 L
m of the principal and the mumber of arae he goes at a speod of 24 kmdd, he reaches
igequal fo rate percent per annum. The rate 3 minutes late. The distance to his office is
; : v —~ el
EER Aapu 3% i ‘Al 20 km 4 B)* 2i km
A) 3% (B) 5"’ W 22 km (D) 24 km
i 4 :
5;;1, 35% (D) ﬁ?ﬁ 146, A sum &!' mmev hemmss ‘mght times in

3 years, if the rale :ﬁ mmpmmdad annually,
T how mauch timé will'the same amount al

j44. The difference between simple interest and
the same compound rale become sixleen

compound interest of 2 ceftain sum of money

_al 20% per gnrﬁ:m for 2 years is T 48. Thfsh. times ? . Wiy
ﬂig:m@ ig < (A) eram v (B) 1 years
(4) 21,000 ® 2 1,2[175 4 (C}. é'ﬁ:di’-\ (D) 5 yearz
T T 1500 -T20ERY Bl Q)

Directions : (Questivns f"‘m 147 1o 150}, The pi chirl @1@3 )M:- o shows the spendings of o furaily on
vartous lieads during @ month. Study the. grap.?i el a.u‘:squ: estivns 147 to 150

T "'T"“T"'-—-\.
/ X i ;M";?
Clothig il 145,

Hent
x

i\
4’@
& L9 »
B .Flwi =

% g\

-
i

¥ ¥y
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147,

148.

149:

150,

;,.l-’}}"r, Fugl, Education nnd'ﬂthum
o
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If the total income of the fawily iz T 25.000,
then the amoun! spent on Renl and Food
together is

(Al T 17.250 B T 147950

(€) 11,250 (D) €850

What is the ratio of the-¢xpenses or Bducation

to:the cxpenses on Food ?
W 1:3 . @ 3:1
() 3:5 {BY &+3

Bipenditurs on Rent is what percent ol
expenditure on Fuel ?

(A) 135% B Lo6% ~
) .\.:".‘-I.J._::
(G 167% mf 12e G

L1 %Y

L 9
& 3

.

il

Which three expen: htuz;f'!‘r ﬁ‘}ﬂiwr have &
central angle of Hif-rl: ‘5 &

() Fuel, Glotm% ?md Otlmrs

(G} Clothing, Rent and Others

{M  Education, Rent and Others

147.

148;

150,

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

A train covers 50% of the journey

30 kvh, 265% of the joumey at 25 km/h a
the vemainmg at 20 kwh, The avera
speed Gin km/hd of the train :lurmg the ent

journcy is

25 "rﬁ,
AN '}’*'-~ B
A T { k"ﬁ%

5

D& ng =1
ic:‘ -45 N m .-U"HI

Wi
'v"

The L. (,.-EE" {lfﬁvu numbers is 4284 and the

LGB 84, IF one of the numbers is 20 5

the ‘b;;l‘ﬁw number is

"Hk_g,, 14 (B R4
A RTE Bl
149, ‘The vohunes of two eylinders ave i vhe rats

5o & and their heizits are in the raiip 2: 0

Then the ratin af ther di_:nurlerzr ja

18 i3} 4-3
Ct 34 My 213

A and B are parigers in a business shavin
profits in the ratio 4 1 & They admit, C it
their busingss and they decide to share the
profite in the ratio 2 : 3 ¢ L. To accommodste
(5, by what ratio do A and B have t give uf
their share of profit ?

A} 3:1
€y 1:2

By 2:1
) 1:3

~re——
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PARTD
ENGLISH COMPREHENSION
Pirections : In questions no. 151 ip I55. some of the sentences have srrors and some are correct. Find out
whick parrin,t' a sentence has ot error and blacken the restongle | 0 | corresponding to the appropriate
letter (A4, B, €} If a sentence is {fee from errors, blagken the rectangle correspending to (D in the Answer

Sheet.

151, A senfor'doctor expressed.concern aboul physicians recommended the vaccine, No crror.
) ) - w

/ N e
#

¥ i

b N

152. We have discussing all the known mechanisms of physical growth. No errors™,

Vgpf (B} () ) . J
# b W

i {1
153, Children ¢njoy listening 4o, ghosts storics _eipeciailr on Halloween :ﬁgli&?"iiﬁ eI,

(a) ; (B) {C) W © D
. = A e &V ‘
154. 1 have many works to do. Mo eyrar. 4 _
(A) (B) :}/f (D} A N

155. There are so many filths all arownd . the place. - No etror,

-:?z/ N (1 © ) L)

— =

Directions : In questions no. 156 to 160, sgq{e%a 156. 'The song iu the play eanncl be deleted as it
are given with blanks to b filled in with an is__ . to the story.
appropriale wore. Pour alternatives ade suggested
for each question. Chovse Wﬂ,ﬁ[@diue out
of the four ¢nd indicgte i -by backéning the s '

¢ IS o el N . () exacting H) integral
appropriate reciarele (48] in the Afgwer Shect, = ot SR

fA) intervened (B} innale

e Bt
[ e

- - L N L‘
156. The building is'\not safe and must be
dobl {A) * epinster B bachelar
AR () unmarried (D) single

159. She remained 2 all her life.

L paig @) puling

I ) N N R S . :

( mﬂ F&ir‘ ED S {160 - Do not. stay in the grasslinds after dark, as
o _ S " some anmimals become when
157' 'iq!ﬂr‘: iS'.S{)'ITH:QIEuE wu::n:;lt;iﬁl_] - him. . they sce humans. :

H L
! o { ? ked B lerte
@) of B about—: Y R Ty fojesgin
£ . b A8) agpressive Dy threalened
(€),- for \)D]. -inside 4

.BE; 2011/Page 36
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7 53 Jrquestions no, 161 to 165, out-of the IDirections : In questions no. 71 e 175 fowr
g L aI 2 natives, chso‘se the one whick besl expresses aliernatives are given for the meaning of the gzwn
s mmzi‘ng of the given word wnd rark it in the |Idiem:/ Phrose, Cloose the ullerrative which best
Answer Sheal. i gxpresses the megning of the Idiom[Phrase ‘ana
: - " mark il in the Answer Sheet,

61, LUCIDITY

(8 Fluidity (B) Politeness N
(©)- Clarity (D) Fluency L ™

S8 JICT {A) to be éncouraged
(& tmplicate  (3) Elude ABIEgRietae
¢} Charge. M) Manifest 1G) 1o hike

o APPRAISE . ) SURES

o :(;E'E) Accise T (B) Praise

| JE%:. Appreciafe (D) Judge 172. Yeoman'siservioe

164. ' DELUGE (A)  méical help
(.c“-) Confugion  B) Deception c_m‘ o Bellent wark #
(G} Fiood D1 Weapon .

P fb? spcial work

165. FIIRJJPGNDFHANE‘E 5
(:"i}, Pre- cmménce {53 Dominanee
{(‘} Domincering (D1 Preoccupation

B ) U3 hard work

Directions - Fa questiess o, 166 (601 m nutmf' fie |173. Totace Ehe: music

foier  alternatives, thooss L6 word W“E in { PAD to enjoy & musital recital
meaning o the givin word asel ark e in :':H'
Answer Shec. ; /;_Rf 1o bear the conscguences

. . to live in & pleasant atmosphere
166, INVINCIBLE "

(A) Small N nvisible jl—“' tohave 3 difficult time
{,C}' Valnerahle' . (D) Reachable —
16%.: m@rmwsr?ﬁ 174. To put up with
o Sede 09 OmgEc . | B b accommodate
© Sesitl o) Rude | @t adjust
168. {BMWFU(:?E | - (C) to understand
dLorced Jisguwise
(G o;ﬁs S (D) Rmf::]s Y o doterale
' 165 DISCORD
| { fi} e ‘z‘mony [B;I_.:-_':'_S_:ﬁ;'r'én;ii}" y 1195, To :ﬁall it a day
' .a,? & ﬁamptaam QYR ATt condhude proceedings
- aﬁ”mm?n ' : g = (B} fo initiate proceedings
(&5 Quitt (R} Sicnificant (C) 1o work through the day
(.’G; Huge 9 Small (1)) Nene of the above
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Directions @ In questions ne. 176 o 180, @ senterce
or underlined part thereof is given which may need
impropement. Alternatives are given at (A), (B) and'
(C) below, which may be a betler option. In case no
improvemen! is needed, your answer is (D). Blacken
the appropricte rectangle [ W [ in the Answer Sheet,

176. The man whom I thought was thﬁroughlj,;'
honest proved to be a swindler.

The man whom I'thought was thnmughiy

honest proved a swindler,

The man who I thought was thoroughly

honest proved (o be a swindler.

Theman to whom I thought was

thoroughly honest proved to be a

swindler,

f@}..
()

(1) Noimprovement

No sooner had the dividend been declared,
the notices were seat out.

(')}L The company had hardly dedlared the

7

()

177,

dividend 1l the notices were sent for
mailing,
They had no sooner declared the

dividend then the nolices weie éﬁutout

than the notices wore sent-out
Np improvement ”

(})‘/
Riding upon his horse, the tiger jm‘lﬁed éi‘.
.
(A} Riding upan the tiger, thw«,hoﬂg:. ﬁlmped
at lim.
(¥ The tiger jumpcd ;‘tt.J:%}J whﬂn:e he was’
riding upon his horse.
The tiger mde at ‘hij:n while he wa
jumping upon ;'lr’a’“h%;r“vl*
No mermcmerft
black .aud % must. have your lerms
dowm, )

(A)

178.

(C)

(D)
179. Tin
i must'hav(: in black and white your
terms down. -

I must have your terms. in black and
white down.

(B)

(@) I must have your tﬂﬂﬁs‘-dmu i black |-

Fon ey

4 and white: .. |
g§2)) .Nu:ﬂﬂfﬁ‘?@?ﬂ@ﬂ ;

.BE'2011/Page 38

Hardly had the dividend beca dﬂclaroc;“ ' X
'i:— l\s?--

180. When we came out of the restaurant it -

half past eleven.

(A) When we had come out of the resiaur -

(I3} After we came out of the restamrant

()

When we have

come mt of
restaurant Sl §

(1) No improvement

BDirections : In qugstions rmgf#l lo 185, owt of i
four  alternatives, ch;;-ase the one which can
substituted, for H;c gaﬁn words /sentence a
indicate i by glab@mng the approprinte rectan;
{ B }in the fum;_.g.erfﬂhw!

(2:3 18 E@'Fiﬂiphmatw elquette and precedant -

(;(\.I' Statesmapship (B)
'((‘! Ilierarchy IiD}

Pinlomany

Prowoce)

To venounee a high position of authority
control
(A) Aldoct {3)  Abandon
() Abort })J' Abdicate
183: Not to be moved by entreaty
{A) Rigorous (B) Negligent
{C) TInexovable (D) Despotic
184. Ar object or portion serving as a sample
© (A) Specification  (B) Spectre
(C) Spectacle 495'1/ Specimen
185. The practice of submitting a proposal
popular vote -
(A—"Elcclion _ ¥ Reference
(C) Popularity (D) Referendum
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Directions : In questions no." 186 tv 190, groups of | 191. @- grandson (B} granciather
: four words are given. In cach group, one word is
%,_.:.:dd:rrccf{y spelt. Find the correctly spell. word and |; (C) grand nephew ﬁ;ﬁ son
gﬁf-:?ﬂ'#zrkyndr answer in the Answer Sheet, ’__ o ——
ﬁ-- - -
4 1;33 {g.}. m@ndah:y (B) circulatary 192. {A) =one 5 )Bf/d;ml
(G)r temporary (D)  regulatary (C) disappeared (1)) absented
87. AA)  convinience {(B) initative L
(C) concesional (D) exagperate 193. (A) on .’ B i
188. (A). diologue (B) giraff’ {€) since @
: /{m_ “scissors « (D) humourcus
1B9. (A) asiduous (B-)/ nefarious 1194, (A) oﬁ ) ordinary
(C) macaber (D} logacious ' (m ot
190. (A) cortege (B} damege
(€5 milege (D) plumege oo

191 to 200), some of the words hove been .!'q’!"ﬂ##
First read the passage over end iry lo understand
whad it is about. Then flr in the bianks with the hel

Directions : In the following passuge (qucstions no. G whole \/m black

. (A)  Jies (B) charges

of the alternatives given. Mark your answer infthe
Answer Sheet. ' }}@j facts (D) ‘blame
PASSAGE (Q. Nos. 191 - m@

Stiene. Theodt KidWicdce QW on [197. (4T stans B stops
kunwlfrlm Is seicnee, Tk oM my own (C) .pusses (I =T
eyesight that our dog Chapp s papaya; 1|
know from a book tha agwas the 191 of
Ba’oa;t_‘,"agﬂ;. 392 ﬁnd.lknﬁ:! ' 138 ) 0o . (B)  mweither
the radio- that | d ot do well in the (© nor T nothing

194 Test s. We can call these 195
of kno 96 , but they mjemtscimoe. 195, (A} by that way ' ﬂ( S
 Scienc® 187 with facts, but' oot 'with | ¢y gomthe side (D). in addition tu
fatts which have. 198 to do with each other,
like the facts about our dog, cricket and
the Moghul rufer; those "'.:'Fncts arc not 2& () to tie (B) %o speak
related ﬁ,'and-sﬁ-hﬂt'ﬁﬂthing _200 with (C) w sleep }4‘.'1)/ ta do
science’ Science starts with obse_rvati&n.

et
L]

g o s
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